
G  3x 5  .gnidoC .raelC .naelC – i0

T  gnidoc s’onimoD si retnirp )JIT( teJ knI lamrehT i053xG eh
s  dna ,refsnart atad tsaf ,noitarepo daehtnirp-itlum rof tsilaicep
c  ehT .seirtsudni ynam ssorca stnemnorivne rellortnoc gnignellah
s  detar 46PI eht morf m52 ot pu detnuom eb nac sdaehtnirp llam
c  selbane ecafretni resu evitiutni htiw neercshcuot ”01 A .rellortno
e   .draob no yltcerid tupni atad dna noitarepo eerf-rorre dna ysa

E  etargetni ot ysa
T daehtnirp owt no )pot ,kcab ,tnorf( snoitpo rotcennoc eerh  
v dna )hgih mm251( daehtnirp dradnats eht :elbaliava era stnaira  
t  .)hgih mm4.39( daehtnirp tcapmoc eh

F atad tsaf :PI/tenrehtE dna TACrehtE ekil snoitpo subdlei  
t rof noitasinorhcnys esicerp dna sCLP htiw noitargetni ,refsnar  
m  .smetsys lortnoc noito

T kramanyD aiv noitasilaires level meti dna ecart & kcar  
p htiw liart tidua ,tnailpmoc 11 traP RFC 12 :locotor  
c noitatnemucod noitadilav ,noitartsinimda resu evisneherpmo  
a .elbaliav . 

E  etarepo ot ysa
E bew aiv ro neercs hcuot eht gnisu gnirotinom dna noitarepo retnirp ysa  
b  .reswor

A  .gnittes retemarap kni dna noitingocer egdirtrac citamotu

C pawSotuA eht ,noitcudorp detpurretninu rof :noitarepO suounitno  
f si metsys knI kluB A .gnitnirp elihw egnahc egdirtrac selbane ytilanoitcnu  
a rotarepo yna rof deen eht tuohtiw noitarepo nur-gnol rof elbaliav  
i  .noitnevretn

O ot pu thgieh lebal rof rellortnoc eno morf sdaehtnirp ruof etarep  
5  .snoitacilppa laudividni elpitlum ro mm8.0

C  .gnidoC .raelC .nael
G rehto ynam dna ,latem ,citsalp ,drac ,repap no ytilauq gnitnirp cihpar  
m  .slaireta

F nac sedocrab ,sogol ,scihparg ,skcolc ,sretnuoc ,txet :ngised lebal elbixel  
a  .lebal emas eht no dedulcni eb ll

G hgih no skni s’onimoD gnisu )51451 OSI( ytilibadaer edoc A edar  
d  .*sedoc xirtamatad ytisne

* sretcarahc 961 ≤ ,04x04 ezis eludom

www.wichmannsystems.com 



Gx350i/0822 EN	� All performance related figures and claims quoted in this document were obtained under specific conditions and may only be replicated under similar conditions.  
For specific product details, you should contact your Domino Sales Advisor. This document does not form part of any terms and conditions between you and Domino.

Technical specification Gx350i

Controller dimensions Height: 123.9mm 
Width: 322.4mm 
Depth: 250.7mm 

Weight: 6.4kg
Printhead dimensions Standard printhead: height 152mm, width 50.9mm, depth 28.5mm, weight 0.22kg

Compact printhead: height 98.5mm, width 93.4mm, depth 28.5mm, weight 0.17kg

Printhead cables 1.5, 3, 6, 12 or 25m
Printheads per controller Up to 4 printheads for increased message height or individual printing  

on up to 4 different print positions

Print height 1 printhead: 12.7mm, 2 printheads: 25.4mm
3 printheads: 38.1mm, 4 printheads: 50.8mm

Print speed and resolution 300m/min at 60dpi to 30m/min at 600dpi
External connection options 2 encoders, I/Os for beacons, product detects or other,  

2 USBs (type A), RS232C, 2x LAN

Power connector 3-way plug
Electrical supply 100-240 V AC, 50-60 Hz, 3.5 A
Controller operating temperature 0° - 45°C (32° - 113°F)
Operating relative humidity 20 - 80% RH (non condensing, 10°C increase per hour)
Controller finish Stainless steel
Inks  A range of fast drying water and solvent based inks for porous and non-porous substrates, 

black, colours, and specialist inks

i-Techx features*  Automatic ink cartridge detection, automatic ink parameter setting, automatic ink level 
recording

Communication  Ethernet / Dynamark protocol, EDC (serial, TCP, USB) optional: fieldbus protocols
User interface QuickStep via 10" touch screen or customer HMI
Continuous operation options  Bulk Ink system for long-run operation, AutoSwap for uninterrupted production 

2

2-M6X8
FOR MOUNTING 
BRACKET

LOCK

52
.9

31

9.9

152

47
3.

942.59

23
5

220

2

6
6

15
0

5.
1

4.
6

1.2 1.2320

1.
2

33

14
.5

14843

58
10

2-M6X8
FOR MOUNTING 
BRACKET

62 64

15
5

200 66

11
1.

1

10
3.

4 
(B

LA
N

K
ED

 O
FF

)

28.5

104.5

102 2.5 (BLANK PLUG)

Gx350i controller

100

105

220
Printer bracket

2

2-M6X8
FOR MOUNTING 
BRACKET

LOCK

52
.9

31

9.9

152

47
3.

942.59

23
5

220

2

6
6

15
0

5.
1

4.
6

1.2 1.2320

1.
2

33

14
.5

14843

58
10

2-M6X8
FOR MOUNTING 
BRACKET

62 64

15
5

200 66

11
1.

1

10
3.

4 
(B

LA
N

K
ED

 O
FF

)

28.5

104.5

102 2.5 (BLANK PLUG)

2

2-M6X8
FOR MOUNTING 
BRACKET

LOCK

52
.9

31

9.9

152

47
3.

942.59

23
5

220

2

6
6

15
0

5.
1

4.
6

1.2 1.2320

1.
2

33

14
.5

14843

58
10

2-M6X8
FOR MOUNTING 
BRACKET

62 64

15
5

200 66

11
1.

1

10
3.

4 
(B

LA
N

K
ED

 O
FF

)

28.5

104.5

102 2.5 (BLANK PLUG)

Gx-Series printhead

Gx-Series compact printhead

*This product has a Quality Management System that means that it will only work with Domino circuitry, and it uses dynamic security 
measures to block non-Domino circuitry from being used.  From time to time updates to the circuitry will be issued by Domino to 
maintain the effectiveness of the Quality Management System.

A  noitulos etelpmoc 
O   .ycneicfife noitcudorp esimixam dna emitnwod etanimile nac uoy os thgisni lanoitarepo edivorp ot dengised era secivres ru

O  troppus lanoitarep
A ,erac fo level gnidnatstuo n  
w drauGefaS ruO .era uoy revereh  
p etis-no ,ytilauq-hgih edivorp segakca
a etomer delbane-RA dna ecnatsiss  
g .sreenigne ruo morf ecnadiu  
S nac ew erusne ot spleh drauGefa  
b .tsom su deen uoy nehw uoy htiw e

A  noitcepsni edoc citamotu
E ruoy sevael taht edoc yreve erusn
f dna ,tcerroc dna tneserp si yrotca  
f -R eht htiW .emit rotarepo pu eer
S noisiv fo egnar s’onimoD ,seire  
c etamotua nac uoy ,smetsys lortno  
y etadilav ot noitcepsni edoc ruo  
c dna ,tnemecalp ,ecneserp edo  
r   .ytilibadae

C  erawtfos lortno
M s’onimoD gnisu srorre esimini  
Q ruoy lortnoC .erawtfos ngiseDkciu
p lartnec a morf sedoc tcudor  
l tcudorp enilmaerts dna noitaco  
c sesu ngiseDkciuQ .srevoegnah  
s slocotorp noitacinummoc dradnat
a gnitsixe otni detargetni eb nac dn  
E   .smetsys PR

S  noitcudorp tram
G yb thgisni lanoitarepo nia  
c ot retnirp ruoy gnitcenno  
D niatbO .duol onimo  
p sdraobhsad scitylana noitcudor  
a .strela rorre metsys eviecer dn  
D uoy sedivorp duolC onimo  
w deen uoy noitamrofni eht hti  
t erom snoitarepo ruoy nur o  
e   .yltneicfif

Contact us
W: www.wichmannsystems.com 
T: +254 742 923 711
E: Contact@wichmannsystems.com


